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Currency as public monopoly

⚫ Currency as public monopoly: the state is the single supplier of what is 

needed to pay tax denominated in its specific unit of account.



What about banks?

⚫ Yes, commercial banks also create and provide tax credit, but within the framework 

dictated by the state.

⚫ Because of that, they have to be considered agents of the state, that instead of 

providing-selling tax credit in exchange for real resources (as the treasury does) provide 

them in exchange for financial assets - the bank purchases the borrower's signed note. 

⚫ Moreover, in order to operate banks need a reserve account at the central bank, a public 

entity, and it is the state that dictates the parameters within which they must operate in 

order to keep their reserve accounts (the CAMELS rating system).



The supply management of a monopolist can fall within two extreme 

approaches: 

1) One in which the monopolist of tax credit (money) dictates the 

quantity supplied and lets the demand determine the terms of 

exchange (the price of currency in real terms: what needs to be 

provided or done to get more of it)

2) One in which the monopolist of tax credit lets the demand dictate the 

quantity of tax credit supplied, and then decides to dictate the terms 

of exchange.





You could choose to fix the number of coffees you 

would accept to supply every day, and let their 

price (their terms of exchange) adapt to it by 

changing every day in response to the level of 

demand.



⚫ Or, at the opposite end of the spectrum, you 

could fix the price of the single espresso cup 

and adapt the quantity supplied to the level of 

daily demand.



⚫ With the first approach, the terms of exchange 
(price) of the goods is a function of demand: the 
higher the level of demand the higher the level of 
prices.

⚫ With the second approach, the price completely 
stops being a function of demand; just the 
quantity is.



Despite who is buying it



⚫ The demand for coffee isn’t constant, 

⚫  If the supply of coffee is able to follow, 

⚫ The supply will allow the price of coffee remain 

constant



Increasing the supply of coffee cups to 

accommodate an increase in demand isn’t 

forcing people to drink more: no supply side 

“pressure” to increase the quantity 



From monopoly of coffee to 

monopoly of currency

⚫ Urge for coffee = Taxes in a currency

⚫ Demand for coffee = demand for currency =       

things for sale in exchange for currency

⚫ Supply of coffee = public spending



From monopoly of coffee to monopoly 

of currency

Accommodate demand for espresso = Accommodate demand for 
currency (things for sale in currency – labor supply for currency)

⚫ Accommodate demand for espresso = Accommodate 
demand for public spending (at a given the level of taxes)

⚫ Accommodate demand for espresso = Accommodate 
demand for public deficit

⚫ Accommodate demand for espresso = accommodate 
“demand” for trade deficit  (accommodate also for foreign 
demand of local currency)



Is the demand for currency constant? No

If you want to maximize the stability of the term of 
exchange of the currency the quantity supplied 
must accommodate its demand: public spending 
should be elastic 



⚫ Is demand for local currency from abroad constant? NO!

⚫ Is foreign saving desire of domestic currency constant? NO!

⚫ Is net saving desire of domestic currency constant? NO!

⚫ Elastic public deficit and trade deficit are needed to 
accommodate demand for currency: just to keep the same 
term of exchange.



Increasing the supply of coffee to accommodate an increase in demand isn’t forcing people to 

drink more: it is just about keeping the term of exchange 

Increasing the public deficit and trade deficit to accommodate the demand for currency isn’t 

forcing currency into the system. It is just about maintaining the same term of exchange.

There isn’t the need to build up productive capacity to justify it.



⚫ Demand for net currency saving must be accommodated 
= government deficit must be elastic

⚫ Net foreign saving desire must be accommodated = trade 
deficit must be allowed to fluctuate

⚫ Currency term of exchange and foreign exchange rate 
are not a function of the size of Public deficit and trade 
deficit.

From monopoly of coffee to monopoly of 

currency



So, what’s the role of the private sector in 

determining market prices when the monopolist is 

fixing the currency’s term of exchange?



The answer is that the private sector is the source 

of relative value between goods but isn’t the 

source of the unit of measurement used to 

measure value.



. 

Currency is both an immaterial commodity, so it is 

priced by its monopolist, but it is at the same time the 

unit of measurement of the value of all remaining 

commodity goods and services



Long jump

⚫ The competitor actions determine the relative value between jumps.

⚫ The meter is the unit of measurement

⚫ The extension of the meter isn’t a function of what competitors do

⚫ If the average jump at the Olympics increases that doesn’t affect what 
it is needed to jump to reach one meter

The same is with the term of exchange of the currency: level of prices 
increase isn’t the same as a change of the currency’s terms of exchange



Coffee’s price isn’t changing in function of who is 

buying it

Meter doesn’t change in function of who is 

jumping

Term of exchange isn’t changing in function of 

who is buying the currency



⚫ Term of exchange of the currency isn’t a function of the composition of the 
public spending

⚫ Term of exchange of the currency isn’t a function of economic productive 
capacity.

⚫ The rate of increase of the term of exchange (monetary inflation) isn’t a 
function public spending composition

⚫ Exchange rate isn’t a function of the composition of the public spending

⚫ Terms of exchange of the currency and exchange rate isn’t structurally about 
demand and supply: because currency is a monopoly (time to be rigorous 
baby ;))



Long jump

⚫ The competitor actions determine the relative 

value between jumps.



In Canada and in the USA Relative values 

between items are expected to be pretty 

consistent  



1 FLASH DRIVE= 2 BATTERY PACK



1 FLASH DRIVE= 2 BATTERY PACK



⚫ Nominal expression of the prices in different 

countries can be very different 



By setting what the private sector needs to 

provide or do to get new supply of currency the 

state sets the terms of exchange of the currency



⚫ Ratio between terms of exchange of two 

currency sets the structural exchange rate upon 

which various pressures can be applied.



⚫- Currency is not “priced” by who prices goods

⚫- Term of exchange of the currency isn’t 
endogenous

⚫- Foreign exchange rate isn’t endogenous 
(structurally)



So, to summarize, market power is about relative 

value, and the currency’s terms of exchange are 

what is used to express those relative values.



Let’s now take a different angle



⚫ DEFICIT SPENDING = THE STATE SUPPLY 

OF NEW CURRENCY REMAINING IN THE 

PRIVATE SECTOR



⚫ TRADE DEFICIT = LOCAL COUNTRY’S 

SUPPLY OF NEW LOCAL CURRENCY 

REMAINING IN THE FOREIGN SECTOR (IN 

EXCESS COMPARE TO FOREIGN 

CURRENCY REMAINING IN THE DOMESTIC 

PRIVATE SECTOR)  



Countries do not just “export” goods: they also 

“export” domestic currency (crediting domestic 

accounts held by foreigners).



⚫ Export from Australia to New Zealand

⚫ Both Country perfectly balanced trade balance – wheat and iron are competitive market

⚫ Australia’s Export to New Zealand:

⚫ 60% wheat + 40% iron

⚫ New Zealand Export to Australia:

⚫ 40% wheat + 60% iron

⚫ But the overall values ​​are equivalent

⚫ - New Zealand is in deficit  in terms of wheat    -  New Zealand is in Surplus in terms of iron

⚫ - Australia is in Deficit in term of iron                  - Australia is in Surplus in term of wheat

Does the different composition of export and import relevant for the exchange rate level?NO

   - If you put once country’s local currency at the place of the iron: 

Australia is in deficit and New Zealand in Surplus.

Does the different composition of export and import relevant for the exchange rate level? NO



Let’s take another Angle again….

This time it will be harder



Imagine the world been constituted by 2 countries, a 

country called “Foreign” and a country called “Local”. 

Imagine that in year 2024 the private sector of Local 

has a desire to save currency from Foreign.



⚫ In order to do so they have to sell something to 

Foreign and get the Foreign currency. So they sell 

goods to them and do not use the Foreign currency 

to get any goods produced in Foreign.



⚫ In this scenario, Foreign is running a trade deficit: 

importing goods without exporting anything.



⚫  Is Foreign in trouble? no.

⚫  Is Foreign in debt? Neither.

⚫  In a sense it could be said that Foreign paid for its 

import “exporting its currency”.



It may not be immediately obvious, that in order for a 

saving desire to occur in the currency of the other 

country, there is no need for those who first earn the 

currency, to save it: a private agent of Local can earn 

the Foreign currency and then re-spend it in favor of 

another Local private agent that will save it.



In 2025 the situation remains the same as in 2024,  but 

a financial sector appears allowing trading directly 

between the two currencies. 



⚫ What changes is that now someone who wants to get 

the currency of the other country can directly sell his 

own domestic currency in exchange for it and 

therefore the saving can be done by someone who 

supply currency instead of goods.



⚫ As a matter of fact, the central bank of Local can sell 

domestic currency and buy Foreign currency, and 

save it, inducing a negative foreign net saving desire 

and producing, in so doing, a trade surplus.

⚫ It can do it also by discounting the local currency: 

that has been the case of China



⚫ Deficit spending=the private sector earned 

more money than the one needed to pay taxes

⚫ Trade deficit=foreign sector received more 

payment than what it has made to the domestic 

economy (no new private debt needed)



IS TRADE DEFICIT SYNONYMOUS WITH 

DEBT?

NO 



Financial dependence is the situation in which the State does not have a monopoly on its currency in a 
floating exchange rate regime.

Economic dependence, has been defined (Wallerstein 1991) as  the need to import goods and services 
necessary for the development and maintenance of the national economic structure; this is aggravated when in 
conjunction with being subject to a certain degree of monopoly power on those imports.

Economic dependence therefore influences the nature of the goods to be produced; it does not, in any way, 
influence the quantity of labor force that can be activated. It therefore says nothing about the level of 
unemployment.

Economic dependency is a qualitative matter.
Trade balance is purely about quantitative



defining an industrial policy while keeping in mind the risk of 

affecting employment leads inexorably to uncourageous 

choices at best.



having greater financial capacity, and the certainty of 

maintaining full employment, whatever the degree of economic 

dependence, enables the state to control absolute poverty. It 

simultaneously opens up greater space in which to define and 

develop industrial policy.



⚫ The terms of exchange of the currency and the foreign exchange rate 
are not a function of the public deficit/trade deficit

⚫ Currency’s Term of exchange isn’t endogenous

⚫ Foreign Exchange rate isn’t endogenous (structurally)

⚫ Trade deficit is not synonymous with foreign debt

⚫ Trade deficit isn’t synonymous with economic dependency

⚫ MMT defines what is the policy space in term of public spending: MMT 
can help defining what are the actual possible industrial policy options





















FOREIGN NET SAVING DESIRE 

When it comes to Currency, the “market”, meaning 

the private sector, it doesn’t just have a demand 

for income (demand for the commodity); in fact it 

has also a demand for unspent income: in other 

terms a “saving desire”.



Foreign net savings desire = difference between:
(i) demand by non-residents for unspent income (savings) in domestic 
currency as well as financial and real assets denominated in domestic 
currency (composed of private demand and foreign state demand).
(ii) demand for unspent income (savings)in foreign currency by residents 
(composed of private demand and state demand, as well as financial and 
real assets denominated in foreign currency).

It is positive when (i) > (ii), and negative otherwise.
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